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ECONOMICS
( Honours Core )
Paper : ECO-HC-4016

( Intermediate Microeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions
1. Answer the following questions : 1x10=10
wod 2R Ted ferd
(a) Write one use of Edgeworth box
diagram.
q&eyy 37 (IF0) foag 9o1 a2 forsn |

(b) What is contract curve?

pfe @ 2
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(c)

(d)

(e)

(9)

(h)

(1

0)

A23 /852

(2)

Define pure public good.
s qTead TA9 e el |

What is degree of monopoly power?

q@ooT IEEe =feq T 2

In which market, there is selling cost?

@A IS (& TT ACF ?

What is meant by strategy of a game?

Q3 (T (el ferc & @ 2

Define signalling in a market.

JEEE T od HeE [ |

What is duopoly market?

Zyf4eE IEH 2

What is meant by asymmetric
information?

eferm v et f& 3om 2

What is non-zero-sum game?

-2+ - (3 [F 2

( Continued )

(3)
2. Answer the following questions : 2x5=10
©Fq ANAEd el fe -
(a) Define two types of externality.
7% 4@ PO <@ (o7
mand

(b) Distinguish between perceived de
and proportionate demand.

W@Bﬁmwmﬁmmmﬂw
for4n |

(c) Define Cournot’s oligopoly model.

01 ool AT wf3ora e fo |

(d) What is market efficiency?

I5 7 $ 2

(e) Distinguish between minimax and

maximin strategies in game theory.

o123 forl |
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[ % )

questions :

f the following
3. Answer any fouro 5x4=00

S5 PIEIRE R @I BifRoE Ted o

(a) Explain the concepl of production

possibility frontier.
e STEIRS] (XA LR I 291 |

(b) What are the characteristics of public
goods? Explain.

qeEa TIH areeTR & 2 o 9

(c0 Explain Lerner’s measure of degree of
monopoly power.

ARRE T *fEd T@ (@R RS
7 ¥4 |

(d) Explain how the saddle point is
obtained in a two-person Z2Zero-sum

game.

®-E F-@e R AT [ @
T =W, I 0

(e) Explain the concept of dumping in

a market.

IGEES TP GIRC0T AN 3447 |
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(S)

Is price discrimination under monopoly
desirable? Support your answer.

GFO0A IEEe 71 [rehiedq sz 2 (S99
Teqq FCH S woefia |

4. Answer the following questions : 10x4=40
©olq 2HCARA Teq ford

(a) Explain the conditions for Pareto

optimality.
(IR’ LTS ¢RI FEIR I 341 |
Or/ 329

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly
power. 4+6=10

JFCHHT IWRS QAN @9 & TA4eF, I
3| gooiou <fes fwga FI7 /& @ 7o
oE(S SYLF AN A4 |

(b) Explain diagrammatically the Bertrand’s

model of duopoly equilibrium.

IRQYI WEPR SR =0 fbag 2w
T 4T |
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(6 )

Or / «9d1

Explain how a firm under monopolistic

competition attains equilibrium both in
the short and long run.

a@fﬁmﬁﬁm%@%&ﬁﬁf@mm
T WF A STl o A,
A5 97 |

(c) Write notes on adverse selection and
moral hazards which may arise due to
information asymmetry with examples.

5+5=10
THIRALNR 577 Heifoy SR JEC T (B[]

WWWW@W@WW
fe= |

Or / 7T

Explain the market equilibrium process
In case of a multi-plant monopoly.

AP GFoHT TwRe 159 ST
e sifaa am=g = |

(d) Diagrammatically explain how
externalities in production and
consumption lead to market fajlure.

T WF (154 AR @ TG
el R w04, B 2w 2 2y |
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( 7))

Or / «¥9d1

Explain  how optimum resource
allocation can be obtained with the
help of production possibility frontier
and social indifference curve.

T SRS (@4 WF NG fraers @9
Gf4yre AEed M 919 @ema THae =,

SICEAToAT 41 |
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